
8 × =

0

× =

8 × 5 = 4

1 0 0

③  8×15

②  80×50

8 × 5 =

5
8 × =

4 0

0

日にち：　　月　　日

名まえ

・ 　　　　　 をもとにして、次のかけ算の積を求めます。

　　  にあう数を書きましょう。

①  8×25

8 × 5 = 4

１

① 例題

(うすい字はなぞりましょう。)

8×5=40

×5

25
×

×10 ×10

80 50
×

×3

15
×



3
8 × = 1 2 0

③  8×15

8 × 5

0 0
4 0 0 0

　　  にあう数を書きましょう。

①  8×25

8

②  80×50

0

5
= 2 0 0

4 0

8 × 5 = 4

日にち：　　月　　日

名まえ

・ 　　　　　 をもとにして、次のかけ算の積を求めます。

8 ×

× 5 = 4

0

1
× =

=

１

① 例題 答え

(うすい字はなぞりましょう。)

8×5=40

×5

25
×

×10 ×10

80 50
×

×3

15
×


